§60.442

Fugitive volatile organic compounds
means any volatile organic compounds
which are emitted from the coating ap-
plicator and flashoff areas and are not
emitted in the oven.

Hood or enclosure means any device
used to capture fugitive volatile or-
ganic compounds.

Oven means a chamber which uses
heat or irradiation to bake, cure, po-
lymerize, or dry a surface coating.

Precoat means a coating operation in
which a coating other than an adhesive
or release is applied to a surface during
the production of a pressure sensitive
tape or label product.

Solvent applied in the coating means
all organic solvent contained in the ad-
hesive, release, and precoat formula-
tions that is metered into the coating
applicator from the formulation area.

Total enclosure means a structure or
building around the coating applicator
and flashoff area or the entire coating
line for the purpose of confining and
totally capturing fugitive VOC emis-
sions.

VOC means volatile organic com-
pound.

(b) All symbols used in this subpart
not defined below are given meaning in
the Act or in subpart A of this part.

a=the gas stream vents exiting the emission
control device.

b=the gas stream vents entering the emis-
sion control device.

C4=the concentration of VOC (carbon equiva-
lent) in each gas stream (j) exiting the
emission control device, in parts per mil-
lion by volume.

Cpi=the concentration of VOC (carbon equiva-
lent) in each gas stream (i) entering the
emission control device, in parts per mil-
lion by volume.

Ci=the concentration of VOC (carbon equiv-
alent) in each gas stream (k) emitted di-
rectly to the atmosphere, in parts per mil-
lion by volume.

G=the calculated weighted average mass (kg)
of VOC per mass (kg) of coating solids ap-
plied each calendar month.

Mc=the total mass (kg) of each coating (i)
applied during the calendar month as de-
termined from facility records.

M,=the total mass (kg) of solvent recovered
for a calendar month.

Qs=the volumetric flow rate of each effluent
gas stream (j) exiting the emission control
device, in dry standard cubic meters per
hour.

Qui=the volumetric flow rate of each effluent
gas stream (i) entering the emission con-
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trol device, in dry standard cubic meters
per hour.

Qn=the volumetric flow rate of each effluent
gas stream (k) emitted to the atmosphere,
in dry standard cubic meters per hour.

R=the overall VOC emission reduction
achieved for a calendar month (in percent).

Rq=the required overall VOC emission reduc-
tion (in percent).

W,i=the weight fraction of organics applied
of each coating (i) applied during a cal-
endar month as determined from Method 24
or coating manufacturer’s formulation
data.

Ws=the weight fraction of solids applied of
each coating (i) applied during a calendar
month as determined from Method 24 or
coating manufacturer’s formulation data.

[48 FR 48375, Oct. 18, 1983, as amended at 65
FR 61761, Oct. 17, 2000]

§60.442 Standard for volatile organic
compounds.

(a) On and after the date on which
the performance test required by §60.8
has been completed each owner or oper-
ator subject to this subpart shall:

(1) Cause the discharge into the at-
mosphere from an affected facility not
more than 0.20 kg VOC/kg of coating
solids applied as calculated on a
weighted average basis for one calendar
month; or

(2) Demonstrate for each affected fa-
cility;

(i) A 90 percent overall VOC emission
reduction as calculated over a calendar
month; or

(ii) The percent overall VOC emission
reduction specified in §60.443(b) as cal-
culated over a calendar month.

§60.443 Compliance provisions.

(@) To determine compliance with
§60.442 the owner or operator of the af-
fected facility shall calculate a weight-
ed average of the mass of solvent used
per mass of coating solids applied for a
one calendar month period according
to the following procedures:

(1) Determine the weight fraction of
organics and the weight fraction of sol-
ids of each coating applied by using
Reference Method 24 or by the coating
manufacturer’s formulation data.

(2) Compute the weighted average by
the following equation:
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